3

I

4 P=2x2x2x2x2=

~ % five Sps + seven 10ps —nine 2ps = -

5 (73+9)=150-
4. 10.085km =1 m
<5 45 = 10.64. Find the value of y.

a. e
b 10 =1 b 100000

1 Write these improper fractions as

mixed numbers.

74 39 145
a2 Z a 45

.2 Find in litres the total of 830mi,
360ml and 170mil.

3 Of these numbers which is
2 the largest
L the smallest?

303 333 33 3333 |

4 Which year is MCMXCIX?

5 Write as a fraction in its simplest form.

b 25min of 1h

=6 Find the difference between
0.394 and 0.4.

ST \Which of these numbers are multiples
of both 5 and 87

| 16 25 40 64 90 120 |

8 2 of asum of money is 45p. Find 1 of
the sum of money.

-8 Find to the ﬂ]ea?EST centimetre one
seventh of 6zm.

£2.90

11 Find the cost of 2.5kg at 74p per 500g.

A B The perimeter
af this
parallelogram
is 72cm.

~ parallelogram

. = C
e 25em

Find the length of the sidles AD and BC.

a 15mm of 15cm a o

0 What sum of money is 200% of £1707  £340

6 6.358 =63 tenths + thousandths 58 thousandths
7 550G x 6= - kg 2.2kg
8 £3650:10=f£ . £2.85 :
9 75°4+65°+00°+ °=360° 138°
10 & ofC3m= <m Bem
1 8% of£3.00= p Z4p
2 17.2+:2= 8.5

. LD AY

_Gup

. BSom

dem

10

1

12

Schofield & Sims

By how many is (10° + 16) greater than
(102 + 16)?

George's date of birth is 27 Nov. 04.
How old will he be in years and months
on 1 Sept. 20207 ARy Bmth
Sophie received a gift of £16. She saved

%0% of the meney and spent the rest.
s What percentage did she spend? a . L Gaos

b £14.40

I How much did she save?

ﬁ Each of the equal angles
/ t%% in this isosceles triangle is
twice the size of the third
angle, Find the size of

3 the third angle a._ ... 3%

e,
B””{ L
% e

A

2 L2Y b othe equal angles

at the base.

A line 10cm long is drawn to represent
a distance of 3km. To what scale is the
fine drawn?

Cdamite o 3G0m

How much

money is saved

by buying 6kg

of potatoes

in bags? .. Bp

Potatoes
£1.40 for a 3kg bag
or 24p per %kg

A rectangular plot of ground measures
19.7m long and 13.4m wide. Round
each measurement 1o the nearest
metre and then find the approximate
area of the plot.

Which of these shapes have
two axes of symmetry?

Ao 7@

There were three candidates A, B and C
n an e1ec1téon. Cf the1total votes :
Apolled 7, B polled g and C polled 3.

a Which candidate won the election? a i .
o What fraction of the electors did !
not vote? BA
x=8x4+4 y=8x4+4)
Find the value of a x a_ 3¢
by b &4
Cy-X .28

The price of a pen was increased from
30p to 36p. Find the increase as a

percentage of the original price. 20%
Find in millimetres the diameter of a
circle that has the radius 7.7cm. 154mm

Mental Arithmetic 5 Answers
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1.4 million + 0.3 million = L7 million

1000 % =300

a 5% of £30 = a £1.50

b 40% of £50 = b £20

20501~ ml=131 550mt
2+5x5-7= S <)
6x9%x5x4=

% = 1 am S7cm
& 065= 1 %=35 2 65% =2
7h = 3h 28min = = h =5 min B0 22N
1.34+ . =1.876 L 8538
9072 x7 = B304
£500+6=- pr-p BERL 20

Takethesumof%and%fromz. 3

How many times is 600g contained

in 4.8kg? e B

£ Find the missing

4.7 4 sum of money. £2.84

1.9 0

How many days inclusive from 23 Nov.
to 9 Dec? R i7
Find the reflex angle to an angle of 63°.  287°
To the total of 850ml and 850mt
add 1.6l Give the answer in litres. - ..
What percentage of
a £400is £20 a .. ... 5%
b 1 tonne is 250kg? b .23%
Write the vear 1066 using
Roman numerats. e DELAV
40% of a sum of money is 60p.
Find the whole amount. £1.28
Which (1)1‘ these decimal fractions
equals g7

0.8 015 025 0125 0475
Divide £10.00 by 3. Give the answer
to the nearest penny. ' £3.33
A piece of paper is 210mm by 30cm.
Find its area in am?, . BRem?

15

10

a

12

SECTION 1

By how many is (3 x 10°) less than
five theusand?

The mass of & 5p coin is 3.25g. What is
the value of the 5ps in a bag if their mass
is 0.325kg? £

L

Of 240 children in a school, 180 bring
a packed lunch. Find the percentage

of children who have school lunches. 259
Find to the nearest kilometre the distance
by road fram Alten to Bigby. . Ekm

oy

:‘% g‘gkm MM’WM@
e Bigby

Alton

: The mean temperature over four

consecutive days was 17°C. For three of
the days the temperatures were 16°, 14°
and 18° respectively. What was the
temperature on the fourth day? ineC
Find the value of 7 -3 x 2 + 10.

In this chart tWo of the prices,

What are they? Yo o
mass | 100g | 150g | 200g | 30Cg | 400g
price { 18p | 27p X 5dp 1%

Maisie saves £7.50 in five monihs.
If she continues to save at the same rate,
how much will she have saved in

a 7 months

B 1 year?

1% & What kind
/ b of triangle is
| E  added to the
1Y rectangle to
make the
shape?

b Find the area
of the shape. b_150cm?

a_rght-angled

The diameter of
v eachcirdeis

i 15.8cm. What
is the distance
in millimetres
hetween the

two centres? 74mm
Yan scored 19 out of 20in a test.
What is his score as a percentage? =hoh
A hollow cube has sides measuring 20cm.
If the cube is half filled with water, what is
the mass cf the water in kilograms? o Zkg



